Using a screen reader? Press Enter Now

Case # 2022CH000015 - HANSEN CHRISTOPHER vs. CITY OF URBA

Envelope Information

Envelope Id 18063972 Submitted Date 5/26/2022 3:00 PM CST

Submitted User Name tparker@heylroyster.com

Case Information

Location

Champaign County

Category Chancery Case Type

Injunction (Except in Tax & Dissolution)

Case Initiation Date

4/14/2022

Case # 2022CH000015

Filings

Filing Type EFileAndServe Filing Code Appearance

Filing Description

Heyl Royster's Entry of Appearance for Defendant City of Urbana, Illinois

Client Reference Number

15948-30

Filing Status
Accepted

Accepted Date 6/1/2022 10:21 AM CST

Lead Document

File Name

Entry of Appearance.pdf

Description

Entry of Appearance.pdf

Security

Non-Confidential

Download Original File Court Copy

eService Details

Status	Name	Firm	Served	Date Opened
Sent	FOIA Team	Loevy & Loevy	Yes	6/1/2022 10:29 AM CST
Sent	Keith E. Fruehling	Heyl Royster Voelker & Allen P.C.	Yes	6/1/2022 14:40 444 00T
Sent	Samuel J Brolley	Heyl Royster Voelker & Allen P.C.	Yes	Not Oper. Help

4

Filing Type EFileAndServe Filing Code
Answer/Response

Filing Description

Defendant's Answer to Plaintiff's Complaint

Client Reference Number

15948-30

Filing Status
Accepted

Accepted Date 6/1/2022 10:21 AM CST

Lead Document

File Name
Defendant's Answer to Plaintiff's
Complaint.pdf

Description

Security
Non-Confidential

Download
Original File
Court Copy

eService Details

Sta	itus	Name	Firm	Served	Date Opened
Se	nt	Keith E. Fruehling	Heyl Royster Voelker & Allen P.C.	Yes	6/1/2022 11:19 AM CST
Se	nt	Samuel J Brolley	Heyl Royster Voelker & Allen P.C.	Yes	Not Opened
Se	nt	FOIA Team	Loevy & Loevy	Yes	6/1/2022 10:27 AM CST
4					•

Parties with No eService

Name

Address

URBANA POLICE DEPARTMENT

Fees

Appearance

DescriptionFiling Fee

Amount \$181.00

Filing Total: \$181.00

Help

Answer/Response

DescriptionFiling Fee \$0.00

Filing Total: \$0.00

Total Filing Fee \$181.00

Payment Service Fee \$0.25

Envelope Total: \$181.25

Transaction Amount \$181.25
Transaction Id 28912294

Filing Attorney Keith Fruehling Order td 018063972-0

Transaction Response Payment Complete

© 2022 Tyler Technologies Version: 2022.0.1.9931



300 Hamilton Boulevard P.O. Box 6199 Peoria, Illinois 61601-6199 United States (309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com

City of Urbana 400 South Vine Street Urbana, IL 61801

Attention:

Elizabeth Hannan

September 19, 2022 Invoice No.: INTERIM 1511217

Our File No.: 15948-30

37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending May 26, 2022:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
04/26/22	KEF	Correspond with C. Mitton, City of Urbana, regarding	0.30	160.00	48.00
04/26/22	KEF	Draft and prepare	0.60	160.00	96.00
04/26/22	KEF	Draft and prepare	0.80	160.00	128.00
04/27/22	KEF	Correspond with E. Thegmeier, Travelers, regarding	0.10	160.00	16.00
04/27/22	KEF	Telephone conference with E. Thegmeier, Travelers, regarding	0.40	160.00	64.00
04/28/22	KEF	Review correspondence from R. Searls, Urbana Police Department, regarding	0.10	160.00	16.00
05/03/22	KEF	Review correspondence from C. Mitten, City of Urbana, regarding	0.10	160.00	16.00
05/03/22	KEF	Correspond with and review correspondence from C. Mitten, City of Urbana, regarding	0.30	160.00	48.00
05/11/22	KEF	Review correspondence and correspond with	0.20	160.00	32.00
05/11/22	KEF	Telephone conference with	0.80	160.00	128.00
		+r.			

This account is payable and due upon receipt.

Invoice No.: INTERIM 1511217

Our File No.: 15948-30

Page No.:2

05/20/22	KEF	Review multiple correspondence from R. McNeil, City of Urbana, regarding	0.30	160.00	48.00
05/20/22	KEF	Review additional correspondence from R. McNeil regarding	0.10	160.00	16.00
05/20/22	KEF	Correspond with R. McNeil, City of Urbana, regarding	0.10	160.00	16.00
05/20/22	KEF	Review additional correspondence from R. McNeil, City of Urbana,	0.10	160.00	16.00
05/20/22	KEF	Review additional correspondence from R. McNeil, City of Urbana, regarding	0.20	160.00	32.00
05/24/22	KEF	Review and analyze additional records provided by R. McNeil, City of Urbana, regarding	0.30	160.00	48.00
05/25/22	KEF	Correspond with R. McNeil, City of Urbana, regarding	0.10	160.00	16.00
05/26/22	KEF	Review and analyze	0.80	160.00	128.00
05/26/22	KEF	Review and analyze	2.40	160.00	384.00
05/26/22	KEF	Telephone conference with R. McNeil, City of Urbana, regarding	1.60	160.00	256.00
05/26/22	KEF	Draft and prepare	0.80	160.00	128.00
05/26/22	KEF	Correspond with plaintiff's counsel regarding	0.20	160.00	32.00

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	10.70	160.00	1.712.00

Invoice No.: INTERIM 1511217

Our File No.: 15948-30

Page No.:3

 Our Fees
 \$1,712.00

 INVOICE TOTAL
 \$1,712.00

CC:



300 Hamilton Boulevard P.O. Box 6199 Peoria, Illinois 61601-6199 United States (309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com

City of Urbana 400 South Vine Street Urbana, IL 61801 October 19, 2022 Invoice No.: INTERIM 1523009

Our File No.: 15948-30

Attention:

Elizabeth Hannan

37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending June 22, 2022:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
06/01/22	KEF	Review correspondence from the Champaign County Circuit Clerk regarding	0.10	160.00	16,00
06/07/22	KEF	Review correspondence from plaintiffs counsel	0.10	160.00	16.00
06/07/22	KEF	Review	0.30	160.00	48.00
06/13/22	KEF	Review notification from court regarding	0.20	160.00	32.00
06/13/22	KEF	Review correspondence from the USDC regarding	0.10	160.00	16.00
06/13/22	KEF	Review	0.40	160.00	64.00
06/13/22	KEF	Review correspondence from plaintiff's counsel's office re	0.10	160.00	16.00
06/14/22	KEF	Review correspondence from court regarding	0.10	160.00	16.00
06/14/22	KEF	Review	0.30	160.00	48.00
06/14/22	KEF	Review correspondence from plaintiff's counsel to judge's clerk regarding	0.10	160.00	16.00

This account is payable and due upon receipt.

Page No.:2

181.25

\$613.25

06/14/22	KEF	Review correspondence from plaintiffs counsel to judge's clerk	0.10	160.00	16.00
06/14/22	KEF	Review and analyze	0.50	160.00	80.00
00/14/22	KEF	Review and analyze	0.30	100.00	60.00
06/14/22	KEF	Review correspondence from Judge Bohm's clerk re	0.10	160.00	16.00
06/16/22	KEF	Review correspondence from Judge Bohm's Clerk	0.10	160.00	16.00
06/22/22	KEF	Review correspondence from Lisa Baldwin, Travelers,	0.10	160.00	16.00
TIME SUMMARY					
MEMBER Fruehling, Keith (KEF)			HOURS 2.70	RATE 160.00	VALUE 432.00
			2.70	: 	- No
Our Fees					\$432.00
Non Taxable Disburser	nents:				

CC:

INVOICE TOTAL

06/02/22

Carl Dreyer Carol Mitten Court Fees Re: EOA Cheque No. 32196

For Ref 18063972 issued to (1905) Champaign County Circuit Clerk





City of Urbana 400 South Vine Street Urbana, IL 61801 February 23, 2023 Invoice No.: INTERIM 1553213

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending July 29, 2022:

DATE 07/07/22	LYR KEF	DESCRIPTION Strategize regarding	HOURS 1.20	RATE 160.00	VALUE 192.00
07/07/22	KEF	Correspond with and review correspondence from Shelley Geiszler, plaintiff's counsel, regarding	0.30	160.00	48.00
07/07/22	KEF	Correspond with and review correspondence from Ross McNeil, Urbana FOIA Officer, regarding	0.30	160.00	48.00
07/07/22	BJV	Correspond with R. McNeil (client) at various points throughout day regarding	0.40	145.00	58.00
07/07/22	BJV	Begin analyzing	0.90	145.00	130.50
07/07/22	BJV	evaluate and assess	0.40	145.00	58.00
07/07/22	BJV	Begin preparing	0.30	145.00	43.50
07/07/22	BJV	Analyze	0.30	145.00	43.50

This account is payable and due upon receipt.

07/08/22	KEF	Initial draft	0.30	160.00	48.00
07/08/22	KEF	Correspond with Shelley Geiszler, plaintiff's counsel, re	0.20	160.00	32.00
07/08/22	KEF	Review correspondence from Shelley Geiszler, plaintiff's counsel,	0.10	160.00	16.00
07/11/22	KEF	Review correspondence from Champaign County Circuit Clerk re	0.10	160.00	16.00
07/11/22	KEF	Review	0.10	160.00	16.00
07/18/22	BJV	Continue analyzing	0.90	160.00	144.00
07/18/22	BJV	Continue preparing	0.40	160.00	64.00
07/18/22	BJV	Continue analyzing	0.30	160.00	48.00
07/20/22	KEF	Review correspondence from Ross McNeil, City of Urbana, providing	0.10	170.00	17.00
07/20/22	BJV	Continue analyzing client's FOIA responses related to	0.80	160.00	128.00
07/20/22	BJV	Interpret Illinois authorities regarding	0.60	160.00	96.00
07/20/22	BJV	Analyze Illinois authorities discussing	0.60	160.00	96.00

07/20/22	BJV	Interpret Illinois authorities discussing	0.70	160.00	112.00
07/20/22	BJV	Evaluate	0.30	160.00	48.00
07/20/22	BJV	Analyze Illinois authorities discussing	0.40	160.00	64.00
07/20/22	BJV	Analyze	0.60	160.00	96.00
07/20/22	BJV	Continue preparing	1.00	160.00	160.00
07/20/22	DJV	Continue preparing	1.00	160.00	100.00
07/20/22	BJV	Correspond with R. McNeil (client) regarding	0.20	160.00	32.00
07/20/22	BJV	Begin preparing	0.20	160.00	32.00
07/20/22	BJV	begin preparing	0.20	160.00	32.00
07/20/22	BJV	Begin preparing	0.20	160.00	32.00
07/20/22	BJV	Various correspondances with A. Kocker (client) regarding	0.40	160.00	64.00
07/20/22	BJV	Various correspondances with A. Weck (client) regarding	0.60	160.00	96.00
07/20/22	BJV	Phone conference with R. McNeil (client) regarding	0.90	160.00	144.00

07/20/22	BJV	Analyze	0.40	160.00	64.00
		(Summary Judgment)			
07/21/22	BJV	Continue interpreting Illinois authorities regarding (Response/Summary Judgment)	0.60	160.00	96.00
07/21/22	BJV	Continue preparing	2.70	160.00	432.00
07/21/22	BJV	Phone conference/interview with A. Weck (client) regarding	1.40	160.00	224.00
07/21/22	BJV	Continue preparing	0.70	160.00	112.00
07/21/22	BJV	Correspond with A. Weck (client) regarding	0.20	160.00	32.00
07/21/22	BJV	Interpret	1.40	160.00	224.00
07/21/22	BJV	Interpret Illinois authorities discussing	0.40	160.00	64.00
07/21/22	BJV	Continue analyzing	0.60	160.00	96.00
07/22/22	KEF	Review correspondence from Urbana FOIA officer re	0.10	170.00	17.00
07/22/22	KEF	Review and analyze	0.50	170.00	85.00
07/22/22	BJV	Phone conference with A. Koker (client) regarding	0.50	160.00	80.00

07/22/22	BJV	Continue preparing	0.30	160.00	48.00
07/22/22	BJV	Continue preparing	1.70	160.00	272.00
07/25/22	KEF	Strategize regarding	0.80	170.00	136.00
07/25/22	BJV	Finish preparing	0.30	160.00	48.00
07/25/22	BJV	Finish preparing	0.40	160.00	64.00
07/25/22	BJV	Correspond with A. Weck (client) regarding	0.20	160.00	32.00
07/25/22	BJV	Correspond with A. Kocker (client) regarding	0.20	160.00	32.00
07/25/22	BJV	Analyze	0.90	160.00	144.00
07/25/22	BJV	Continue analyzing Illinois authorities discussing	0.80	160.00	128.00
07/25/22	BJV	Various correspondances with M. Bain (client) regarding	0.40	160.00	64.00
07/25/22	BJV	Phone conference with A. Koker and A. Weck (client) regarding	0.70	160.00	112.00
07/25/22	BJV	Prepare affidavit from UPD representative testifying to	0.90	160.00	144.00

07/25/22	BJV	Analyze	0.40	160.00	64.00
07/25/22	BJV	Phone call with C. Heldmann (client) regarding	0.20	160.00	32.00
07/25/22	BJV	Phone call with M. Bain (client) regarding	0.20	160.00	32.00
07/25/22	BJV	Continue preparing	2.10	160.00	336.00
07/25/22	BJV	Various correspondences with A. Weck (client)	0.40	160.00	64.00
07/25/22	ВЈV	Analyze	0.30	160.00	48.00
07/25/22	BJV	Analyze	0.40	160.00	64.00
07/25/22	BJV	Interpret Illinois authorities discussing	0.80	160.00	128.00
07/25/22	BJV	Analyze	0.70	160.00	112.00
07/25/22	ВЈV	Analyze	0.40	160.00	64.00
07/26/22	KEF	Correspond via email with Shelly Geiszler, plaintiff's counsel,	0.30	170.00	51.00

07/26/22	KEF	Review email from and correspond with Shelley Geiszler, plaintiff's counsel,	0.20	170.00	34.00
07/26/22	KEF	Draft and prepare	0.40	170.00	68.00
07/26/22	KEF	Review email from Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
07/26/22	KEF	Draft and revise	0.30	170.00	51.00
07/26/22	KEF	Communicate via email with Shelley Geiszler, plaintiff's counsel, regarding	0.10	170.00	17.00
07/26/22	BJV	Correspond with M. Bain (client) regarding	0.20	160.00	32.00
07/26/22	BJV	Analyze	0.20	160.00	32.00
07/26/22	BJV		0.20	160.00	32.00
07/26/22	BJV	Identify and evaluate	0.30	160.00	48.00
07/26/22	BJV	Continue preparing	0.40	160.00	64.00
07/27/22	KEF	Review correspondence from Champaign County Circuit Clerk	0.10	170.00	17.00
07/27/22	KEF	Review	0.10	170.00	17.00
07/27/22	KEF	Strategize regarding	0.60	170.00	102.00

07/27/22	BJV	Correspond with R. Surles (client) regarding	0.20	160.00	32.00
07/27/22	BJV	Continue preparing	0.20	160.00	32.00
07/27/22	BJV	Continue preparing	1.60	160.00	256.00
07/27/22	BJV	Correspond with M. Bain (client) regarding	0.20	160.00	32.00
07/28/22	KEF	Telephone conference	0.50	170.00	85.00
07/28/22	KEF	Telephone conference	0.60	170.00	102.00
07/28/22	KEF	Strategy to	0.60	170.00	102.00
07/28/22	BJV	Interpret Illinois authorities discussing	0.70	160.00	112.00
07/28/22	BJV	Correspond with A. Weck (client) regarding	0.20	160.00	32.00
07/28/22	BJV	Continue interpreting Illinois authorities discussing	0.50	160.00	80.00
07/28/22	BJV	Continue interpreting Illinois authorities discussing	0.90	160.00	144.00
07/28/22	BJV	Continue preparing	0.80	160.00	128.00

07/28/22 BJV Phone call with 0.50 160.0 07/28/22 BJV Phone call with A. Koker regarding 0.20 160.0 07/28/22 BJV Phone call with R. McNeil (client) regarding 0.20 160.0 07/28/22 BJV Phone call with R. McNeil (client) regarding 0.10 160.0 07/28/22 BJV Phone call with A. Weck (client) regarding 0.10 160.0 07/28/22 BJV Identify and evaluate 0.40 160.0						
07/28/22 BJV Phone call with A. Koker regarding 0.60 160.0 07/28/22 BJV Phone call with A. Koker regarding 0.20 160.0 07/28/22 BJV Phone call with R. McNeil (client) regarding 0.20 160.0 07/28/22 BJV Phone call with A. Weck (client) regarding 0.10 160.0 07/28/22 BJV Identify and evaluate 0.40 160.0	07/28/22	BJV	Analyze	0.40	160.00	64.00
07/28/22 BJV Phone call with A. Koker regarding 0.20 160.0 07/28/22 BJV Phone call with R. McNeil (client) regarding 0.20 160.0 07/28/22 BJV Phone call with A. Weck (client) regarding 0.10 160.0 07/28/22 BJV Identify and evaluate 0.40 160.0	07/28/22	BJV	Phone call with	0.50	160.00	80.00
07/28/22 BJV Phone call with R. McNeil (client) regarding 0.20 160.0 07/28/22 BJV Phone call with A. Weck (client) regarding 0.10 160.0 07/28/22 BJV Identify and evaluate 0.40 160.0	07/28/22	BJV	Phone call with	0.60	160.00	96.00
07/28/22 BJV Phone call with A. Weck (client) regarding 0.10 160.0 0.10 0.10 0.10 0.10 0.10 0.1	07/28/22	влу	Phone call with A. Koker regarding	0.20	160.00	32.00
07/28/22 BJV Identify and evaluate 0.40 160.0	07/28/22	BJV	Phone call with R. McNeil (client) regarding	0.20	160.00	32.00
	07/28/22	BJV	Phone call with A. Weck (client) regarding	0.10	160.00	16.00
07/28/22 BJV strategy regarding 0.30 160.0	07/28/22	BJV	Identify and evaluate	0.40	160.00	64.00
	07/28/22	BJV	strategy regarding	0.30	160.00	48.00
07/29/22 KEF Review email to Richard Surles, City of Urbana, 0.20 170.0	07/29/22	KEF	Review email to Richard Surles, City of Urbana,	0.20	170.00	34.00

07/29/22	KEF	Review email from Richard Surles, City of Urbana, regarding	0.10	170.00	17.00
07/29/22	KEF	Final review and edit	0.70	170.00	119.00
07/29/22	KEF	Review email from Richard Surles, City of Urbana, re	0.10	170.00	17.00
07/29/22	KEF	Review and analyze	0.60	170.00	102.00
07/29/22	KEF	Review correspondence	0.10	170.00	17.00
07/29/22	KEF	Review correspondence	0.10	170.00	17.00
07/29/22	BJV	Finish preparing	0.30	160.00	48.00
07/29/22	BJV	Various correspondences with R. Surles and M. Bain (clients) regarding	0.40	160.00	64.00
07/29/22	BJV	Continue	0.70	160.00	112.00
07/29/22	BJV	Analyze	0.30	160.00	48.00
07/29/22	BJV	Analyze	1.20	160.00	192.00
07/29/22	BJV	Finish preparing	2.60	160.00	416.00

Page No.:11

07/29/22	BJV	, evaluate	0.40	160.00	64.00
07/29/22	BJV	Investigate	0.40	160.00	64.00

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	9.90	167.37	1,657.00
Vayr, Bryan (BJV)	48.80	159.29	7,773.50
	58.70	_	
Our Fees		_	\$9,430.50
INVOICE TOTAL			\$9,430.50

CC:







City of Urbana 400 South Vine Street Urbana, IL 61801 March 13, 2023 Invoice No.: INTERIM 1560356

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending August 29, 2022:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
08/04/22	KEF	Review email from Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
08/04/22	KEF	Correspond with Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
08/04/22	KEF	Review correspondence from Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
08/04/22	KEF	Review	0.20	170.00	34.00
08/04/22	KEF	Strategize	0.30	170.00	51.00
08/04/22	KEF	Correspond with Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
08/05/22	KEF	Review correspondence from Shelley Geiszler, plaintiff's counsel,	0.10	170.00	17.00
08/08/22	BJV	Analyze	0.40	160.00	64.00

Page No.:2

\$588.00

08/09/22	BJV	Analyze	0.30	160.00	48.00
08/10/22	KEF	Review correspondence from Champaign County Circuit Clerk regarding	0.10	170.00	17.00
08/10/22	KEF	Review	0.10	170.00	17.00
08/11/22	KEF	Strategize regarding	0.50	170.00	85.00
08/26/22	KEF	Review correspondence from Champaign County Circuit Clerk's Office regarding	0.10	170.00	17.00
08/26/22	KEF	Review correspondence from Blake Bunting, plaintiff's counsel's firm, regarding	0.10	170.00	17.00
08/26/22	KEF	Initial review	0.80	170.00	136.00
08/29/22	KEF	Review correspondence from Leslie Erdman, Judge Bohm's clerk, regarding	0.10	170.00	17.00

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	2.80	170.00	476.00
Vayr, Bryan (BJV)	0.70	160.00	112.00
	3.50		
Our Fees			\$588.00

CC:

INVOICE TOTAL



300 Hamilton Boulevard P.O. Box 6199 Peoria, Illinois 61601-6199 United States (309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com

City of Urbana 400 South Vine Street Urbana, IL 61801 April 17, 2023 Invoice No.: INTERIM 1569869

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending September 14, 2022:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
09/14/22	KEF	Correspond with Ross McNeil	0.10	170.00	17.00

TIME SUMMARY

MEMBER Fruehling, Keith (KEF)	HOURS 0.10 0.10	RATE 170.00	VALUE 17.00
Our Fees			\$17.00
INVOICE TOTAL			\$17.00

CC:



(309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com



City of Urbana 400 South Vine Street Urbana, IL 61801 May 11, 2023 Invoice No.: INTERIM 1580049

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending April 28, 2023:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
12/21/22	KEF	Review correspondence from Leslie Erdman, Judge Bohm's clerk, re	0.10	170.00	17.00
12/21/22	KEF	Review correspondence from Shelley Geiszler, plaintiff's counsel re	0.10	170.00	17.00
12/21/22	KEF	Telephone conference with Carla Boyd, City of Urbana, regarding	0.30	170.00	51.00
12/21/22	KEF	Telephone conference with David Wesner, City of Urbana, regarding	0.30	170.00	51.00
12/22/22	KEF	Review correspondence from Shelley Geiszler, plaintiff's counsel, to Judge Bohm's clerk	0.10	170.00	17.00
12/22/22	KEF	Correspond with Shelley Geiszler, plaintiff's counsel,	0.20	170.00	34.00
12/22/22	KEF	Correspond with Leslie Erdman, Judge Bohm's clerk, re	0.20	170.00	34.00
12/22/22	KEF	Review correspondence from Leslie Erdman, Judge Bohm's clerk,	0.10	170.00	17.00
01/04/23	KEF	Review correspondence from Blake Bunting, plaintiff's counsel's office, to Leslie Erdman, Judge Bohm's clerk,	0.10	170.00	17.00

This account is payable and due upon receipt.

01/04/23	KEF	Review correspondence from Leslie Erdman, Judge Bohm's clerk, to plaintiff's counsel regarding	0.10	170.00	17.00
01/18/23	BJV	Analyze	0.40	160.00	64.00
01/18/23	BJV	Evaluate	1.30	160.00	208.00
01/18/23	BJV	Interpret Illinois authorities discussing	0.40	160.00	64.00
01/18/23	BJV	Analyze conflicting Illinois authorities discussing	0.40	160.00	64.00
01/18/23	BJV	Prepare	0.40	160.00	64.00
01/18/23	BJV	Rehearse oral arguments	0.40	160.00	64.00
01/20/23	KEF	Analyze	0.80	170.00	136.00
01/20/23	KEF	Telephone conference with R. McNeil, City of Urbana, regarding	0.40	170.00	68.00
01/20/23	BJV	Prepare for today's hearing on Plaintiff's Motion for Summary Judgment	0.40	160.00	64.00
01/20/23	BJV	Attend court hearing on Plaintiff's Motion for Summary Judgment	0.30	160.00	48.00
01/20/23	BJV	identify and evaluate	0.70	160.00	112.00
01/20/23	BJV	Analyze Illinois authorities discussing	0.40	160.00	64.00

01/24/23	KEF	Review	0.10	170.00	17.00
01/24/23	BJV	Phone call with J. Loevy (opposing counsel) regarding	0.20	160.00	32.00
01/24/23	BJV	Prepare correspondence to C. Mitten (client) regarding	0.20	160.00	32.00
01/25/23	KEF	Correspond with Carol Mitten, City of Urbana,	0.10	170.00	17.00
02/24/23	KEF	Review correspondence from Ross McNeil, City of Urbana, regarding	0.10	170.00	17.00
02/24/23	KEF	Review and analyze	0.60	170.00	102.00
02/24/23	KEF	Review correspondence	0.10	170.00	17.00
02/24/23	BJV	Analyze correspondence from R. McNeil (client) regarding	0.20	160.00	32.00
02/24/23	BJV	Interpret recently-decided Illinois authorities discussing	0.40	160.00	64.00
02/24/23	BJV	Evaluate	0.30	160.00	48.00
02/24/23	BJV	Prepare	0.30	160.00	48.00
03/07/23	KEF	Review correspondence from Ross McNeil, City of Urbana, regarding	0.20	170.00	34.00
03/09/23	KEF	Review correspondence from R. McNeil, City of Urbana, regarding	0.10	170.00	17.00

03/09/23	KEF	Telephone conference with R. McNeil, City Urbana, regarding	0.50	170.00	85.00
03/09/23	BJV	Correspond with opposing counsel regarding	0.20	160.00	32.00
03/09/23	BJV	Phone call with R. McNeil (client) regarding	0.50	160.00	80.00
03/10/23	KEF	Review correspondence from Ross McNeil, City of Urbana, regarding	0.10	170.00	17.00
03/10/23	BJV	Analyze	0.30	160.00	48.00
03/10/23	BJV	Interpret Illinois authorities discussing	0.20	160.00	32.00
03/10/23	BJV	Analyze Illinois authorities discussing	0.20	160.00	32.00
00/40/00	D.W.		0.20	400.00	22.00
03/10/23	BJV	Evaluate	0.20	160.00	32.00
03/10/23	BJV	Phone call with R. McNeil regarding	0.20	160.00	32.00
03/18/23	KEF	Review correspondence	0.10	170.00	17.00
03/20/23	BJV	Correspond with J. Loevy (opposing counsel) regarding	0.20	160.00	32.00

03/21/23	KEF	Review correspondence from Leslie Erdman, law clerk to Judge Bohm,	0.10	170.00	17.00
03/21/23	KEF	Correspond with Leslie Erdman, Judge Bohm's clerk,	0.20	170.00	34.00
03/21/23	BJV	Correspond with opposing counsel regarding	0.30	160.00	48.00
03/22/23	KEF	Review correspondence from Leslie Erdman, Judge Bohm's clerk,	0.10	170.00	17.00
03/22/23	BJV	Phone discussion with opposing counsel J. Loevy	0.20	160.00	32.00
03/22/23	BJV	Attend court-call for the continued hearing on Plaintiff's Motion for Summary Judgment in this matter	0.60	160.00	96.00
03/22/23	BJV	Correspond with client regarding	0.20	160.00	32.00
03/22/23	BJV	Correspond with opposing counsel J. Loevy regarding	0.20	160.00	32.00
04/14/23	KEF	Correspond with Carl Dreyer, Travelers,	0.10	170.00	17.00
04/17/23	BJV	Correspond with opposing counsel regarding	0.20	160.00	32.00
04/20/23	KEF		0.40	170.00	68.00
04/20/23	KEF		0.30	170.00	51.00
04/20/23	BJV	Identify	0.20	160.00	32.00

Page No.:6

04/20/23	BJV	Evaluate	0.20	160.00	32.00
04/20/23	BJV	Analyze	0.20	160.00	32.00
04/20/23	BJV	Prepare	0.20	160.00	32.00
04/27/23	BJV	Correspond with J. Loevy (plaintiff's counsel) regarding	0.20	160.00	32.00
04/27/23	BJV	Correspond with C. Mitten (client) regarding	0.20	160.00	32.00
04/28/23	BJV	Correspond with J. Loevy (opposing counsel) regarding	0.20	160.00	32.00
04/28/23	BJV	Prepare	0.20	160.00	32.00

TIME SUMMARY

MEMBER Fruehling, Keith (KEF) Vayr, Bryan (BJV)	HOURS 6.00 12.00 18.00	RATE 170.00 160.00	1,020.00 1,920.00
Our Fees			\$2,940.00
INVOICE TOTAL			\$2,940.00

CC:



300 Hamilton Boulevard P.O. Box 6199 Peoria, Illinois 61601-6199 United States (309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com

City of Urbana 400 South Vine Street Urbana, IL 61801 June 16, 2023 Invoice No.: INTERIM 1589459

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending May 1, 2023:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
05/01/23	KEF	Review correspondence from Champaign County Circuit Clerk	0.10	170.00	17.00

TIME SUMMARY

MEMBER Fruehling, Keith (KEF)	HOURS 0.10 0.10	RATE 170.00	VALUE 17.00
Our Fees		_	\$17.00
INVOICE TOTAL		_	\$17.00

CC:







City of Urbana 400 South Vine Street Urbana, IL 61801

Attention:

July 21, 2023 Invoice No.: INTERIM 1597018

Our File No.: 15948-30

37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

Elizabeth Hannan

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending June 26, 2023:

DATE 06/02/23	LYR KEF	DESCRIPTION Review correspondence from and correspond with Carol Mitten, City of Urbana,	HOURS 0.40	RATE 170.00	VALUE 68.00
06/04/23	KEF	Draft and prepare	1.20	170.00	204.00
06/05/23	KEF	Review correspondence from Carol Mitten, City of Urbana, regarding	0.10	170.00	17.00
06/05/23	KEF	Correspond with Carol Mitten, City of Urbana,	0.10	170.00	17.00
06/16/23	BJV	Correspond with J. Loevy (opposing counsel) regarding	0.20	160.00	32.00
06/19/23	KEF	Review correspondence to plaintiff's counsel	0.10	170.00	17.00
06/26/23	KEF	Strategize regarding	0.40	170.00	68.00

This account is payable and due upon receipt.

Page No.:2

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	2.30	170.00	391.00
Vayr, Bryan (BJV)	0.20	160.00	32.00
	2.50	_	
Our Fees		_	\$423.00
INVOICE TOTAL			\$423.00

CC:







City of Urbana 400 South Vine Street Urbana, IL 61801 August 29, 2023 Invoice No.: INTERIM 1609141

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending July 31, 2023:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
07/02/23	KEF	Review correspondence from Ross McNeil, City of Urbana,	0.10	170.00	17.00
07/03/23	KEF	Correspond with Ross McNeil, City of Urbana,	0.10	170.00	17.00
07/03/23	KEF	Correspond with Ross McNeil, City of Urbana, him with status of case and that we are in the process	0.10	170.00	17.00
07/05/23	KEF	Review	0.10	170.00	17.00
07/05/23	BJV	Correspond with opposing counsel regarding	0.20	160.00	32.00
07/05/23	BJV	Attend via telephone court-mandated status conference in this matter	0.20	160.00	32.00
07/05/23	BJV	Correspond with J. Loevy (opposing counsel) regarding	0.20	160.00	32.00
07/07/23	KEF	Correspond with Carol Mitten, City of Urbana,	0.20	170.00	34.00
07/07/23	KEF	Review correspondence from Carol Mitten, City of Urbana	0.10	170.00	17.00

This account is payable and due upon receipt.

Page No.:2

07/10/23	BJV	Correspond to opposing counsel regarding	0.20	160.00	32.00
07/27/23	KEF	Telephone conference with C. Mitten, City of Urbana, regarding	0.20	170.00	34.00
07/28/23	KEF	Review correspondence from Josh Loevy, plaintiff's counsel	0.20	170.00	34.00
07/28/23	KEF	Strategize regarding	0.50	170.00	85.00
07/28/23	KEF	Correspond with Carol Mitten, City of Urbana, regarding	0.30	170.00	51.00
07/28/23	KEF	Correspond with Carl Dreyer, Travelers, regarding	0.30	170.00	51.00
07/28/23	KEF	Review and analyze	0.40	170.00	68.00
07/29/23	KEF	Review correspondence from Carol Mitten, City of Urbana,	0.10	170.00	17.00
07/30/23	KEF	Correspond with Carol Mitten, City of Urbana, regarding	0.30	170.00	51.00
07/31/23	KEF	Correspond with Carol Mitten, City of Urbana,	0.30	170.00	51.00

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	3.30	170.00	561.00
Vayr, Bryan (BJV)	0.80	160.00	128.00
	4.10		

Invoice No.: INTERIM 1609141

Our File No.: 15948-30

Page No.:3

Our Fees \$689.00

INVOICE TOTAL

\$689.00

CC:







City of Urbana 400 South Vine Street Urbana, IL 61801

Attention:

September 18, 2023 Invoice No.: INTERIM 1613330

Our File No.: 15948-30

37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

Elizabeth Hannan

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending August 16, 2023:

DATE 08/04/23	LYR KEF	DESCRIPTION Telephone conference with	HOURS 0.50	RATE 170.00	VALUE 85.00
08/04/23	KEF	Review and analyze	0.50	170.00	85.00
08/14/23	KEF	Review correspondence from Carol Mitten, City of Urbana,	0.10	170.00	17.00
08/14/23	KEF	Correspond with Carol Mitten, City of Urbana, re	0.20	170.00	34.00
08/14/23	KEF	Review correspondence from and correspond with Carol Mitten, City of Urbana, regarding	0.10	170.00	17.00
08/14/23	KEF	Review correspondence from Ross McNeil, City of Urbana, regarding	0.20	170.00	34.00
08/14/23	KEF	Correspond with David Wesner, Urbana,	0.20	170.00	34.00
08/14/23	KEF	Telephone conference with R. McNeil, Urbana, regarding	0.70	170.00	119.00
08/14/23	KEF	Telephone conference with D. Wesner, Urbana, regarding	0.50	170.00	85.00

This account is payable and due upon receipt.

Page No.:2

\$931.00

08/14/23	KEF	Draft and prepare	0.50	170.00	85.00
08/14/23	KEF	Telephone conference with C. Mitten, Urbana, regarding	0.50	170.00	85.00
08/14/23	KEF	Review correspondence from and correspond with Richard Surles, Urbana,	0.30	170.00	51.00
08/15/23	BJV	Begin preparing	0.40	160.00	64.00
08/16/23	KEF	Review	0.20	170.00	34.00
08/16/23	KEF	Review correspondence from Richard Surles, Urbana,	0.30	170.00	51.00
08/16/23	KEF	Review	0.30	170.00	51.00

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	5.10	170.00	867.00
Vayr, Bryan (BJV)	0.40	160.00	64.00
	5.50	•	
Our Fees			\$931.00

CC:

INVOICE TOTAL





City of Urbana 400 South Vine Street Urbana, IL 61801 December 14, 2023 Invoice No.: INTERIM 1636639

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending November 17, 2023:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
11/08/23	KEF	Review correspondence from Ross McNeil, City of Urbana,	0.10	170.00	17.00
11/16/23	KEF	Review correspondence from Carl Dreyer, Travelers, regarding	0.20	170.00	34.00
11/16/23	KEF	Review and analyze	0.30	170.00	51.00
11/16/23	KEF	Correspond with Carl Dreyer, Travelers, regarding	0.20	170.00	34.00
11/16/23	BJV	Correspond with opposing counsel regarding	0.20	160.00	32.00
11/17/23	KEF	Review and analyze	0.20	170.00	34.00
11/17/23	BJV	Analyze	0.20	160.00	32.00
11/17/23	BJV	Continue preparing	0.10	160.00	16.00
11/17/23	BJV	Correspond with opposing counsel regarding	0.20	160.00	32.00

Page No.:2

TIME SUMMARY

MEMBER	HOURS	RATE	VALUE
Fruehling, Keith (KEF)	1.00	170.00	170.00
Vayr, Bryan (BJV)	0.70	160.00	112.00
	1.70	_	
Our Fees		_	\$282.00
INVOICE TOTAL			\$282.00

CC:



300 Hamilton Boulevard P.O. Box 6199 Peoria, Illinois 61601-6199 United States (309) 676-0400 (309) 420-0402 firm@heylroyster.com www.heylroyster.com

City of Urbana 400 South Vine Street Urbana, IL 61801 January 10, 2024 Invoice No.: INTERIM 1642489

Our File No.: 15948-30

Attention: Elizabeth Hannan 37-0947290

RE: Christopher Hansen v. City of Urbana, Urbana Police Department

Claim No: A2H0274 Date of Claim: 04/14/2022

FOR PROFESSIONAL SERVICES RENDERED on this matter for the period ending December 6, 2023:

DATE	LYR	DESCRIPTION	HOURS	RATE	VALUE
12/06/23	KEF	Correspond with Carl Dreyer, Travelers, regarding	0.30	170.00	51.00
12/06/23	BJV	Analyze	0.30	160.00	48.00
	7.5.5			855555	

TIME SUMMARY

MEMBER Fruehling, Keith (KEF) Vayr, Bryan (BJV)	0.30 0.30 0.60	RATE 170.00 160.00	VALUE 51.00 48.00
Our Fees		e	\$99.00
INVOICE TOTAL		_	\$99.00

CC: